[TO BE PUBLSIHED IN THE GAZETTE OF INDIA, EXTRAORDINARY, PART I,
SECTION 3, SUB-SECTION (ii)]

GOVERNMENT OF INDIA
MINISTRY OF FINANCE
DEPARTMENT OF REVENUE
[CENTRAL BOARD OF DIRECT TAXES]

Notification
New Delhi, the 19" October, 2015
INCOME - TAX
S.0. (E).- In exercise of the powers conferred by section 92C read with

section 295 of the Income-tax Act, 1961 (43 of 1961), the Central Board of Direct Taxes
hereby makes the following rules further to amend the Income-tax Rules, 1962,

namely:-
1. (1)  These rules may be called the Income-tax (16" Amendment), Rules,
2015.
(2)  They shall come into force on the date of their publication in the Official
Gazette.
2. In the Income-tax Rules, 1962, -
() inrule 10 B, -

(i) in sub-rule (4),-

(a) after the words “relating to the financial year”, the brackets,

words, figures and letters “( hereafter in this rule and in rule 10 CA

referred to as the ‘current year’)"” shall be inserted,

(b) in the proviso, for the words “such financial year”, the words “the

current year “ shall be substituted;

(c) after the proviso, the following proviso shall be inserted,

namely:-
“Provided further that the first proviso shall not apply while
analysing the comparability of an uncontrolled transaction
with an international transaction or a specified domestic
transaction, entered into on or after the 1t day of April,
20147,

(i) after sub-rule (4), the following sub-rule shall be inserted, namely:-
“(5) In a case where the most appropriate method for determination of the arm’s
length price of an international transaction or a specified domestic transaction,
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entered into on or after the 1%t day of April, 2014, is the method specified in
clause (b), clause (c) or clause (e) of sub-section (1) of section 92 C , then,
notwithstanding anything contained in sub-rule (4), the data to be used for
analysing the comparability of an uncontrolled transaction with an international
transaction or a specified domestic transaction shall be,-

(i) the data relating to the current year ; or

(i) the data relating to the financial year immediately preceding the
current year, if the data relating to the current year is not available at the
time of furnishing the return of income by the assessee , for the
assessment year relevant to the current year:

Provided that where the data relating to the current year is subsequently
available at the time of determination of arm’s length price of an international
transaction or a specified domestic transaction during the course of any
assessment proceeding for the assessment year relevant to the current year,
then, such data shall be used for such determination irrespective of the fact that
the data was not available at the time of furnishing the return of income of the
relevant assessment year.”;

(I) after rule 10 C, the following rule and illustrations shall be inserted, namely:-

“10 CA. Computation of arm’s length price in certain cases.-(1) Where in respect of
an international transaction or a specified domestic transaction, the application of the
most appropriate method referred to in sub-section (1) of section 92 C results in
determination of more than one price, then the arm’s length price in respect of such
international transaction or specified domestic transaction shall be computed in
accordance with the provisions of this rule.

(2) A dataset shall be constructed by placing the prices referred to in sub-rule (1) in an
ascending order and the arm’s length price shall be determined on the basis of the
dataset so constructed:

Provided that in a case referred to in clause (i) of sub-rule (5) of rule 10B, where
the comparable uncontrolled transaction has been identified on the basis of data
relating to the current year and the enterprise undertaking the said uncontrolled
transaction, [not being the enterprise undertaking the international transaction or the
specified domestic transaction referred to in sub-rule (1)], has in either or both of the
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two financial years immediately preceding the current year undertaken the same or
similar comparable uncontrolled transaction then,-

(i) the most appropriate method used to determine the price of the comparable
uncontrolled transaction undertaken in the current year shall be applied in similar
manner to the comparable uncontrolled transaction or transactions undertaken in the
aforesaid period and the price in respect of such uncontrolled transactions shall be
determined; and

(i) the weighted average of the prices, computed in accordance with the manner
provided in sub-rule (3) , of the comparable uncontrolled transactions undertaken in the
current year and in the aforesaid period preceding it shall be included in the dataset
instead of the price referred to in sub-rule (1) :

Provided further that in a case referred to in clause (i) of sub-rule (5) of rule
10B, where the comparable uncontrolled transaction has been identified on the basis of
the data relating to the financial year immediately preceding the current year and the
enterprise undertaking the said uncontrolled transaction, [not being the enterprise
undertaking the international transaction or the specified domestic transaction referred
to in sub-rule (1)], has in the financial year immediately preceding the said financial
year undertaken the same or similar comparable uncontrolled transaction then, -

(i) the price in respect of such uncontrolled transaction shall be determined by applying
the most appropriate method in a similar manner as it was applied to determine the
price of the comparable uncontrolled transaction undertaken in the financial year
immediately preceding the current year; and

(i) the weighted average of the prices, computed in accordance with the manner
provided in sub-rule (3) , of the comparable uncontrolled transactions undertaken in the
aforesaid period of two years shall be included in the dataset instead of the price
referred to in sub-rule (1):

Provided also that where the use of data relating to the current year in terms of
the proviso to sub-rule (5) of rule 10 B establishes that,-

(i) the enterprise has not undertaken same or similar uncontrolled transaction during the
current year ; or

(i) the uncontrolled transaction undertaken by an enterprise in the current year is not a
comparable uncontrolled transaction,

then, irrespective of the fact that such an enterprise had undertaken comparable
uncontrolled transaction in the financial year immediately preceding the current year or
the financial year immediately preceding such financial year, the price of comparable
uncontrolled transaction or the weighted average of the prices of the uncontrolled
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transactions, as the case may be, undertaken by such enterprise shall not be included
in the dataset.

(3) Where an enterprise has undertaken comparable uncontrolled transactions in
more than one financial year, then for the purposes of sub-rule (2) the weighted
average of the prices of such transactions shall be computed in the following manner,
namely:-

(i) where the prices have been determined using the method referred to in clause (b) of
sub-rule (1) of rule 10 B , the weighted average of the prices shall be computed with
weights being assigned to the quantum of sales which has been considered for
arriving at the respective prices;

(ii) where the prices have been determined using the method referred to in clause (c) of
sub-rule (1) of rule 10 B , the weighted average of the prices shall be computed with
weights being assigned to the quantum of costs which has been considered for arriving
at the respective prices ;

(iii) where the prices have been determined using the method referred to in clause (e) of
sub-rule (1) of rule 10 B, the weighted average of the prices shall be computed with
weights being assigned to the quantum of costs incurred or sales effected or assets
employed or to be employed, or as the case may be, any other base which has been
considered for arriving at the respective prices.

(4) Where the most appropriate method applied is a method other than the method
referred to in clause (d) or clause (f) of sub-section (1) of section 92 C and the dataset
constructed in accordance with sub-rule (2) consists of six or more entries, an arm'’s
length range beginning from the thirty-fifth percentile of the dataset and ending on the
sixty-fifth percentile of the dataset shall be constructed and the arm's iength price shall
be computed in accordance with sub-rule(5) and sub-rule (6).

(5) If the price at which the international transaction or the specified domestic
transaction has actually been undertaken is within the range referred to in sub-rule (4),
then, the price at which such international transaction or the specified domestic
transaction has actually been undertaken shall be deemed to be the arm’s length
price.

(6) If the price at which the international transaction or the specified domestic
transaction has actually been undertaken is outside the arm's length range referred to in
sub-rule (4), the arm’s length price shall be taken to be the median of the dataset.
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(7) In a case where the provisions of sub-rule (4) are not applicable, the arm's length
price shall be the arithmetical mean of all the values included in the dataset:

Provided that, if the variation between the arm's length price so determined and
price at which the international transaction or specified domestic transaction has
actually been undertaken does not exceed such percentage not exceeding three
percent. of the latter, as may be notified by the Central Government in the Official
Gazette in this behalf, the price at which the international transaction or specified
domestic transaction has actually been undertaken shall be deemed to be the arm's
length price .

(8) For the purposes of this rule,-

(a) “the thirty-fifth percentile” of a dataset, having values arranged in an
ascending order, shall be the lowest value in the dataset such that at least
thirty five percent. of the values included in the dataset are equal to or less
than such value :

Provided that, if the number of values that are equal to or less than the
aforesaid value is a whole number , then the thirty-fifth percentile shall be the
arithmetic mean of such value and the value immediately succeeding it in the
dataset ;

(b) “the sixth-fifth percentile” of a dataset, having values arranged in an
ascending order, shall be the lowest value in the dataset such that at least
sixty five percent. of the values included in the dataset are equal to or less
than such value:

Provided that, if the number of values that are equal to or less than the
aforesaid value is a whole number , then the sixty-fifth percentile shall be the
arithmetic mean of such value and the value immediately succeeding it in the
dataset;

(c) “the median” of the dataset, having values arranged in an ascending order,
shall be the lowest value in the dataset such that at least fifty percent. of the
values included in the dataset are equal to or less than such value :

Provided that, if the number of values that are equal to or less than the
aforesaid value is a whole number , then the median shall be the arithmetic
mean of such value and the value immediately succeeding it in the dataset.

llustration 1.- The data for the current year of the comparable uncontrolled
transactions or the entities undertaking such transactions is available at the time of
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furnishing return of income by the assessee and based on the same, seven enterprises
have been identified to have undertaken the comparable uncontrolled transaction in the
current year. All the identified comparable enterprises have also undertaken
comparable uncontrolled transactions in a period of two years preceding the current
year. The Profit level Indicator (PLI) used in applying the most appropriate method is
operating profit as compared to operating cost (OP/OC). The weighted average shall be
based upon the weight of OC as computed below:

SI. | Name | Year 1 Year 2 Year 3 | Aggregation of | Weighted
No. [Current Year] | OC and OP Average
1 2 3 4 5 6 7

1 A OC=100 | OC=150 |OC=225 Total OC =475 | OP/OC =
OP=12 |OP=10 OP = 35 Total OP = 57 12%

2 B OC=80 | OC=125 |0OC=100 | Total OC =305 |OP/OC =
OP=10 |0OP=5 OP =10 Total OP = 25 8.2%

3 C OC =250 |OC=230 |OC=250 Total OC=730 | OP/OC =
OP=22 |0OP=26 OP =18 Total OP = 66 9%

4 D OC=180 |OC=220 |OC-=150 Total OC =550 | OP/OC =

OP=()9 |OP=22 OP =20 | Total OP = 33 6%

5 E OC=140 OC=100 |OC=125 Total OC =365 |OP/OC =
OP=21 |OP=()8 |OP=()5 Total OP =8 2.2%

6 F OC=160 OC=120 | OC=140 Total OC =420 | OP/OC =
OP=21 |OP=14 OP =15 Total OP = 50 11.9%

P G OC=150 |OC=130 |OC=155 | Total OC =435 | OP/OC =

| OP=21 |OP=12 OP =13 Total OP = 46 10.57%

From the above, the dataset will be constructed as follows:

S.I. No. [1 2 3 4 | 5 |6 | 7 |

Values |2.2% 6% 8.2% 9% 11057% [11.9% |[12% |

For construction of the arm’s length range the data place of thirty-fifth and sixty-fifth
percentile shall be computed in the following manner, namely:

Total no. of data points in dataset * (35/100)
Total no. of data points in dataset * (65/100)

Thus, the data place of the thirty-fifth percentile = 7*0.35 = 2.45.
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Since this is not a whole number, the next higher data place, i.e; the value at the third
place would have at least thirty five percent. of the values below it. The thirty-fifth
percentile is therefore value at the third place, i.e, 8.2%.

The data place of the sixth-fifth percentile is = 7*0.65 = 4.55.

Since this is not a whole number, the next higher data place, i.e; the value at the fifth
place would have at least sixty five percent. of the values below it. The sixty-fifth
percentile is therefore value at fifth place, i.e, 10.57%.

The arm’s length range will be beginning at 8.2% and ending at 10.57%.

Therefore, if the transaction price of the international transaction or the specified
domestic transaction has OP/OC percentage which is equal to or more than 8.2% and
less than or equal to 10.57%, it is within the range. The transaction price in such cases
will be deemed to be the arm’s length price and no adjustment shall be required. '
However, if the transaction price is outside the arm’s length range, say 6.2%, then for
the purpose of determining the arm’s length price the median of the dataset shall be first
determined in the following manner:

The data place of median is calculated by first computing the total number of data point
in the data set * (50/100). In this case itis 7 * 0.5 = 3.5,

Since this is not a whole number, the next higher data place, i.e; the value at the fourth
place would have at least fifty percent. of the values below it ( median).

The median is the value at fourth place, i.e., 9%. Therefore, the arm’s length price shall
be considered as 9% and adjustment shall accordingly be made.

lllustration 2.- The data of the current year is available in respect of enterprises A, C,
E. F and G at the time of furnishing the return of income by the assessee and the
data of the financial year preceding the current year has been used to identify
comparable uncontrolled transactions undertaken by enterprises B and D . Further, if
the enterprises have also undertaken comparable uncontrolled transactions in earlier
years as detailed in the table, the weighted average and dataset shall be computed as
below:

SI. | Name | Year 1 Year 2 Year 3 | Aggregation of | Weighted
No. [Current OC and OP Average
Year]
1 2 3 4 5 6 7

1 A OC =] 0OC=150 | OC =225 Total OC =475 | OP/OC =
100 OP=10 |OP=35 Total OP = 57 12%
OP =12 .

2 B OC=80 |0OC=125 Total OC =205 | OP/OC =
OP=10 |OP=5 Total OP = 15 7.31%
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3 & ocC =1 0C=230 | OC =250 Total OC =730 |OP/OC =
250 OP =26 OP =18 Total OP =66 9%
OP =22
4 D OC =220 Total OC =220 | OP/OC =
OP =22 | Total OP =22 10%
5 E OC =100 Total OC =100 |OP/OC =
OP=(-)5 | Total OP = (-)5 | (-)5%
6 F ocC =/ 0C=120 | OC =140 | Total OC =420 | OP/OC =
160 OP=14 |0OP=15 | Total OP =50 | 11.9%
OP = 21 |
 J G oC = 0C=130 | OC =155 | Total OC =435 | OP/OC =
. 150 OP =12 OP =13 Total OP =46 10.57%
| OP = 21
From the above, the dataset will be constructed as follows:
S.I. No. |1 2 3 | 4 5 6 7
Values (-)5% 7.31% | 9% 1 10% 10.57% | 11.9% 12%

If during the course of assessment proceedings, the data of the current year is available
and the use of such data indicates that B has failed to pass any qualitative or
quantitative filter or for any other reason the transaction undertaken is not a comparable
uncontrolled transaction, then, B shall not be considered for inclusion in the dataset.
Further, if the data available at this stage indicates a new comparable uncontrolled
transaction undertaken by enterprise H, then, it shall be included. The weighted average
and dataset shall be recomputed as under:

Sl. | Name | Year 1 Year 2 Year 3 | Aggregation of Weighted
No. [Current Year] | OC and OP  Average
1 2 3 4 5 6 ' 7
1 A |OC=100 [OC =150 |OC=225 Total OC =475 | OP/OC =
OP =12 OP =10 OP =35 Total OP = 57 12%
‘. C OC=250 |OC=230 |OC=250 Total OC =730 |OP/OC =
| OP=22 |OP=26 |OP=18 Total OP=66 | 9% |
3 D |OC =220 |0OC=150 Total OC =370 | OP/OC =
OP =22 OP =20 Total OP =42 11.35%
4 E OC =100 Total OC =100 | OP/OC =
OP=(-)5 Total OP = ()5 | (-)5%
5 F OC =160 | OC=120 |OC =140 Total OC =420 |OP/OC =
OP=21 |OP=14 OP =15 Total OP = 50 11.9 %
6 G OC=150 [ OC=130 |0OC=155 Total OC =435 | OP/OC =
OP = 21 OP =12 OP =13 Total OP = 46 10.57%
7 H OC =150 OC =80 Total OC =230 | OP/OC =
il st OP =12 OP =10 Total OP = 22 9.56%

http://www.itatonline.org




From the above, the dataset will be constructed as follows:

S.. No. [1 2 3 4 (5 6 7

Values | (-)5% 9%  |956% |1057% |11.35% |119% |12%

lllustration 3.- In a given case the dataset of 20 prices arranged in ascending order is
as under:

Sl. No. Profits  (in Rs.
Thousands )
1 2
1 42.00
2 43.00
3 44.00
4 44 50
5 45.00
6 4525
7 47.00
8 48.00
9 48.15
10 48.35
11 48.45
12 48.48
13 48.50
14 49.00
15 49.10
16 49.35
17 4950
18 49.75
19 50.00
20 50.15

Applying the formula given in the lllustration 1, the data place of the thirty-fifth and sixty-
fifth percentile is determined as follows:

Thirty-fifth percentile place = 20* ( 35/100) = 7.

Sixty-fifth percentile place =20* ( 65 /100) = 13.

Since the thirty-fifth percentile place is a whole number, it shall be the average of the
prices at the seventh and next higher, i.e; eighth place. This is (47+48) /2 =Rs. 47,500
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Similarly, the sixty-fifth percentile will be average of thirteenth and fourteenth place
prices. This is (48.5+49) / 2 = Rs. 48,750

The median of the range ( the fiftieth percentile place ) = 20* (50/100)= 10
Since the fiftieth percentile place is a whole number, it shall be the average of the prices
at the tenth and next higher, i.e; eleventh place. This is (48.35+48.45) / 2 =Rs. 48,400

Thus, the arm’s length range in this case shall be from Rs. 47,500 to Rs. 48,750.
Consequently, any transaction price which is equal to or more than Rs 47,500 but less
than or equal to Rs 48,750 shall be considered to be.within the arm’s length range.".

Notification No.8 3 /2015 [F.No. 142/25/2015-TPL]

{,«.O.A—-O.DQ-’\___?_;_‘___—
(Arju Garodia)' 7/ 0]
Under Secretary (Tax Policy and Legislation)

Note.- The principal rules were published in the Gazette of India Extraordinary, part Il
section 3, sub-section (i), vide notification number S.0. 969(E), dated the, 26! March,
1962 and were last amended vide notification number S.0. 2791 (E), dated the f2:t
October, 2015.
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Ao o8 W AT 3 Hegaer a1 el Rfafdse el Hegagr areda

& forar arar § iedshe Hod FHT ST |

6) s Feu ow W R qwd degaer a1 fFEr Rfafdse mq
HeO9gR arEagd # fFar = &, 3ufaas (4) # Rfcse afeqse dar @ a1
g, d gfetee Heg sedie & 3ea & &9 # forr seen

(7) 39 &M # g 39AIA (4) F 3IUEY &9 T g g, HiedAwe HHAd

STRIT H HFATSId G Hodl H1 0TAIT ATEY g |

Wq 36 YHR UG Flewwe Fad 3R 39 FAd & &= Bewar,
e iTRse Sogaek a1 Rfafise ate Foaaer avae & e oiw §, O
gfaerd & 31 FE7 &, S ugTaadr & J9 vfavd ¥ 30w a8 & S &5
FE WER R 39 Affcd T997 # g & e, 98 g 5"
W HREE Hegagr a1 fafdfese aXe] Hegaer aredd # g0 &, 1 Hewse

HIAT HAT ST |
(8) 37 fTH & yaear & fow-
() 31T Fe F "ddrgar gfaas”, foas Jod IRE F7 & W a0 ¢

BIeT ¥ H #gAdH Hed BN AW 31¢T §e H WiFATd Hedl & &F7 4
A 44 gided T Hod & FAJed I 399 HF ¢ |
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Wq IF f& qEled #ed & FAGed A1 389 FH Hedl o q&dl
qoie § a e wfana® W Aeg # AR ST ¥ A 5% @1
WRATTTC Hed FT 3 0T AT gRT
(@) T 31eT e F1 "Gor-gruar Wiauas” oHe Hedl 1 ARG HA A
T T T §, ST 9 # geidd Hed 8RN AWl 3T ¥ # |iFAfad
Hedl F1 44T gfoRd W #ed & §AQed A1 38 FH §

W TF & GEiFd #ed & TAed T 38T FH Hodl S T
Ui § o desar gfawas U H{ed # AR e #C H 3Ed Qi
GUTAaA! Hed & 3 A0 AT BT

(3T) BT ¥ H A" [F@F Hedl F JRET FA A W 74T §, S
¥ H #gATH Hed g AW 3T A H FiFAOd FA # FA TUEH
A qed U Fod & TAed I 388 FA 8

g I% & Eied Ao F TAded A1 3HY 4 qpd 9 G

qUieh § a0 AT U Hed 3R ST dT A $EF Jid 9LEadl Hod

FT 3k 0T AL BT ;
geerd 1.—3e a9 & fou qeleirg H{edd HegagRl a1 UH HHGERI HI §IY
H o g Tt # srer AR gaR 3T A Feolt gvga we F §HY
sqey § 3R 3EF NUR W WG 3UHA B UgEE O a¥ # geed
FAIRT TegaeR 81U H o Il & ® FH Fr 7S § | gy ggwe qw
qoield 3WRAT # G0 9Y & qEadl & au # FAY F geeg e
HegaeR o1 g1y A v § | waiRe 3ugdd Ruy & an) &= 7 399
foFaT arar &8 TR I9eUS (NTAIE) e oRTd AT Jofell H T e
& (33 | sTRa e R & oR & IUR W A Hioe 3eER §

A |TH ¥ 1 ¥ 2 GLl 3 e 3y e & TR 3itaa
g. grT
[aTe_ )
1 2 3 4 5 5 7
1 F 3dr=100 |370T= 150 FIET = 225 AT = [FRT AT = 47597 (3dEaET =
3= 12 3rdr=10 35 FHrdr=57 12%
|
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2 o} HEr=80 |HH=125 3= 100 3 |ARTINRAT=3059T AT =
37dT= 10 Hdr=5 =30 3rdr = 25 8.2%

3 a 3Er=250 |3Mefr=230  |3T=250 Fd= [@ET A =730 (3T =
Mdr=22 Hdr=26 18 39 = 66 9%

4 q =180 |3Er=220  |30r=150 30 = [Aer 3= =550 AT |3y
Adr=()9 |3Hdr=22 20 Hdr=33 6%

5 7 =140 |3 Er=100  [3Er= 125309 = (AT NEr =365 T |/ =
Adr=21  |3dr=(-)8 (-) 5 dr =3 12.2%

1

6 T AMEr=160 |3HI=120 3AET = 140 30T = [AeT AT = 420 (3/AET =
Adr=21  |3dr=14 15 3rdr=50 11.9%

7 23 WAr=150 |3E=130 T = 155 3T = (AT 3T = 435 AT [ 3NAY/FNET =
3dr=21 3dr=12 13 3dr = 46 10.57%

qafed & 31T T 1 Ileaaa A U v 3EER fhar S

FR T |1 2 3 4 5 6 7

e 2.2% 6% 8.2% 9% 10.57% 11.9% 12%

gfemee I &7 3eaaa & & fav 399 3R duag gfauds & ger

T &Y FaoTaAT S & §fF F FHr Fweh, vaiq -

3T §e # 3TeT fowgat &I Fel T&T* (35/100)

geT ¥ H srer fawgait Hr Sl TEAT* (65/100)

3, ¥ gfaeras &1 sSer T = 740.35 = 2.45.

4f% a5 TF QUi @, T 3TAR IT T Aid S TUE W A
N IF AT AT F FF § FA GdE giad g =@ige | gdE gfaras
zafoT Y TUH W HAT §, 3T 8.2% |

TS-9TId Uiaerdes T el AT = 7%0.65=4.55 ¢ |
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gfF Ig TH qUNE Ael &, HAT ITACR [T TUHF HUR IH9 TUH R FAd
FI IGH A HAG & HH Y FF 906 Fided T gU | 9gs wfaedas
gHfIT Jga TS W HAT §, 7T 10.57% |

Alease I 8.2% T IRH grir 3R 10.57% X AT gl |

sHfAT, IR Hegagr a1 afafese o FegaeR & 3aRor FAa A
AR 9faerd &, S 8.2% & FHAGST A1 3HY HTOF § AT 10.57% & FH 47
3FF FAGeT €, T T A § | W AFA A FRT AT F Flewishe HAd
AT A0 HR ORI FAGST B 39eT A6 gl |

aury, I HERUT HIAg Theoddhe (F & 6 &, 99 6.2% o9 Fledsc HAd
HT HTURUT Fd & JATST & [0 SET e FH1 JAfegsr FFAg # I8d
Feafaraa OfF & feuria FIr sreer |

AMCTHT &F T FATA HI FIAUET 9ga *(50/100) €T FC F 3rer fawgat &
T HEIT H HIUAT FIh ITHiod HhT FN | H AHS H 7%0.5=35 |

i IE TH Uil FAel g, I 3TA SCT T FA| Y T F oHod
3% A Hedl (AEIRT) 1 FA F FH 50 Ffard grm |

ACTHT Y T R Aed §, HUA 9% | SAIAT Fiowtse Hod H 9% AT
ST AR TEqdR FAES fHar Seer |

Tserd 2. —fAUREr ganT 3 1 Rest gvdd X & 949 39%A &, 7, 5, T,
I T F FeY # A a¥ & AT 317 39y § 3R o9 a¥ & qaadr av &
foT srer 1 3UERT 3UFA @ AR 3WRA U gErt g1y & v aw ged
HAIHT HegagRl HT 989 A & fov fhar ar § | 3us wfaieq, afy
39HAT F TR A RU a0 @R F @R g & a9 F goAg dAatd
FogagR o1 fv € a1 oRa 3fwa 3R swer de & §ovEr 9 Re oo
HFAR HI ST |

¥4 AR |99 1 a¥ 2 T¥ 3 [aTe] 3T 3R AT w1 | sRa sitwa
g. 9] 2T
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1 2 3 4 5 5 7
1 = Jefri00  |3Er=150  |30AT =225 3N = (oA AT =475 F A/ =
Hdr =12 [3d=10 35 Hidr =57 12%
2 g HEr=80  |3HET=125 Fel 3T = 205 Fe (/AT =
Adr =10  |3GT =5 AT =15 7.31%
3 | 3250 |HET = 230|309 = 250 3N = (Fer AT = 730 For| A/ =
Ay =22 |3rdr=20 |18 N =66 9%
4 13§ HET = 220 Fol 3T = 220 e | Y/ =
T =22 3Hrdr =22 10%
5 g 34T = 100 T = |Fef T = 100 Foor | NA/T =
(-)5 3T = ()5 (-)5%
6 |= HrET 160 = 1203 = 140 3T = | 3T = 420 FeF| /A =
Hdr =21 [3dr=14 |15 3Tdr =50 11.9%
7 3 HET150 (3= 130|300 = 155 3T = | AT = 435 Fe| /I =
Hdr =21 Fﬁtﬁ =12 |13 Hrdr =46 10.57%

qafed ¥ S1eT AT H IJUeadA A QT a0 HegAR v Seem -

FH & 1 2 3 4 5 6 7

— (-)5% 7.31% 9% 10% 10.57% 11.9% 12%

I URoT FRAGIRAT & g a1 av & v ser 3ueey § 3R T s &
3YIRT T 3UGRIT AT ¢ 6 @ FS AUMcHF T AFCHS ek ITH FoA
A FEGA @ § A 3 SR § F1Y A AT T HegagR oA
3T TeaaeR 77 &, 99 @ W 3T dc § gFafea e F v TR
767 forar Suem | gEe AAREF, 39 YA W 3UEY 3T 3YhA o GART
gy # o a7 Far Jere FATIT 3UFH 39T AT & g9 39 AT
frar STEem | ATRa 3Ed 3R ST 8¢ & 9 HIoer A U 0 3gER
T SATTET
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¥ |@® [a¥ 1 T¥ 2 a¥ 3 (A |3t alk it w1 | aiRa atea

. a¥] grer

1 3 4 5 6 7

1 F =100 |3MT=150  |3MRAT=22530d1 = (el 3T =475Fel |3C/30E0 =
A= 12 3= 10 35 HIT =57 12%

2 ar HIT=250 |3RT=230 |3 =250 = |l 3T =730 For |3Hf/3N =
Hdr =22 |3 =26 18 3 =66 9%

3 T HET=220  |AT=150 A = (FF AW =370 %l |3/l =

3T =22 20 AT =42 11.35%
4 g 3T = 100397 = |FeT 3N =100Fe | HAG/HA =
(-)5 3T = ()5 (-)5%

5 T =160 |(3T=120  |3¥I= 140 3 = (FeT AR =420Fel | 3R/30A =
HGr =21 [T =14 15 HIGT =50 11.9%

6 [ =150  |3MT=130 (3= 15530 = (For 3Ar=435Fer (330 -
Adr=21 |Adr=12 |13 Hrdr =46 10.57%

7 < 3T =150 HRAT=803Mdr = (Tl 3HRAT=230Fel |33 =
3rdy= 12 10 Hdy =22 9.56%

qaiere ¥ STeT A & Iead A U v segaR R S

s |1 2 3 4 5 6 7

P (-)5% 9% 9.56% 10.57%  |11.35%  [11.9% 12%

e 3.—fndl foT 710 AFe § 3RE F7 & W 718 20 AT F T A€
A T a1 3ER §

FH 4.

AT (FIAR IYT H)

42.00
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2 43.00

3 44.00 |
4 44.50 i
B 45.00

6 45.25

7 47.00

8 48.00

9 48.15

10 48.35

11 48.45

12 48.48

13 48.50

14 49.00

15 49.10

16 49.35

17 49.50

18 149.75

19 50.00

‘20 50.15

g 1 # RUu oow g3 & 3uEeT &= dded 3R Yeed wfawas &
YR A U 31T 3R § ¢

Sefraar wfaeraes T = 20+ (35/100) = 7

YFear gfaedas T = 20+ (65/100) = 13
gfe ddrmar gfduds ¥ qUie §, I8 @99 3R 3R 3TUd) SEdr @
HaaT g1 37U TSaT TUF | Tg (47 + 48) /2 = 47,500 I § |

sHr avg, YHedr yfaerdas T qUis §, 98 o¥ed AR dicgd T &I HAar
&1 3Gd B8R | Tg (48.5 + 49) /2 = 48,750 TUY § |

& &1 AfegeT (Teggal Sfaeds =) = 207 (50/100) = 10

df Jegeal Sfaed® T qOIE §, I€ qEAl AR T 3TIAR HAAT H
e grem, Ui TAREar ¥UH | UE (48.35 + 48.45)/12 = 48,400 TUY § |
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3F YFR, 3T ATHS & Gleddhe o 47,500 F 48,750 T4 gl |

TRUTATGRY FIS HeIagR HAG o 47,500 & FAJeT AT 38 3106 ¢ g
48,750 TIU & HA I AT 38+ FAJeH §, Pl Hleashe € F AL S |"|

HOgEe §.53/2015 [B1.H. 142/25/2015-E40]

ARG SR
(3, TR 11]10] 2015
3R TiHe (F Aifa HIT &)

feoaor . A9 O ARG F TS9H, IEURC, HET 3, WS 3, 3UWS () A
FOGTAT H. FTHT. 969(37), AW 26 M, 1962 EIRT YA v 710 & R
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